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ENGLISH VERSION

{(a) State uses and limitations of \2 test.

{(t) Fit Poisson distribution te the following data 7

and test goodness ol fit.

Y] | 2131+
o les 21110

o =o.54sa]
OR

(a) E=splain wesl of independence of two
attribuies.

() The demand of books in a library [rom

Monday to Friday are as [ollows. Test the

hypothesis that the demand of books does not

depend upon the day ol the week.

-1

https://www.hnguonline.com

Days | Mondiay | Tuesday | Wednesday | Thursda | Friday
Demand et 30 al) 6 37
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{c) Select an appropriate alternative for the

following questions :

{i}

{ii)

{iil)

(1v)

CRB-1207]

State degrees of freedom 3 = 3 contigency
table :

(@ 6 b @
¢y 4 @ 10

State degrees of freedom for goodncss
of fit.

a) n-i by n
€y n-k+1 ) n-k-1

State number of classes. when
degrees of [reedom is n-1 in
comparisicn of ohserved Mrequency
and expected {requency.

@ n by n-1

{c} n+l d n-2

For calculation of 12 statistic. how can
be the sample observations ?

(a} relative (b) independent

() continuous (d) discrece

9 |Comid...
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State assumptions and limitations of linear

programming,

Solve the [ollowing linear programming

problem by graphical method.

Maximize, Z=dx +&x,
subject to x(, ¥y >0, 21 +3x; < 48.
N 2ls n <10

OR

Explain uses of Linear programming.

Explain : Non-negative cenditions.

constraints. objective function, slack variahle.

Select on appropriate alternative for the

following gquestions :

(1) In linear programming problem,
how the values of deeision variables

are ?

{a) Positive
(b Negative
{c) Zero

(d} Non-negative

https://www.hnguonline.com
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(iiiy

(iv)
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Which of the following function can not
be an cbjective function of Linear

programming problem ?

(a) 2x+3r &) x2-2y%

(©  3x+)? {d} (&) and (c} both

In Linear programming problem when
there are only two vraibles then [or
solution which method is sned ?

(a} Graphical method
{b) Simplex method
{¢) Hungarian method
{d) EMY method

In linear programming problem, when
all constraints are of < sign then which

type of objective function ?
() Maximumnm (b) Minimum

() Artificial (d) Degerate

L1 [Contd...
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(a)

(a)

(b)
()
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Solve the following Linear programming 14

problem by Simmplex method.

Maximize. Z=3x +2xy+5xy subject to.
1. Xy xy 20 | +2x2 + X5 <430, 3.!;1 + 2xq 2 400,
¥y 44y $420

OR

What is duality in Linear programming ? 7

Compare primal and dual problem.
Explain degeneracy in Linear programming. 7

Select an appropriaie alternalive for Lhe 3

following questions :

(1) In simplex method, to obtain minimum

ration how can he the value of a;

(a Gy =0
& a; <0

) a; L0

@ a,20
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(i) As usual notation, in Simplex method if fa) Explain : Homogeneous function, Euler's [

theoren:. Utility funetion.

Z,7C,<0 and its corresponding all Y
{b) Utility function of a consumer is 4 =x'+2x B

fy <0, then how is the gsolution of

and budget equation is +y+3y=60. then find

problem ?
the values of x and y such that utility will be
(a) bounded ) unbounded :
maximum,
{¢) degenerate (d) unique
(€} Select an appropriate alternative lor the 3

(iil) In simplex method, how ¢an the elements following questions :

of new row be obtained 7
(@) elements of cld row * key clement @ If f{x.r) is a homogeneous [unction

with degree n then how can it be
clements of old cow

()]

expressed ?
ey element

@ M og(v/x)
{€) Elements cf old row + key element

(d) None of these b ¥ g{x/y)
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4 @ If 2=22-3%%3/21,3 then prove that 7 @  e{yfr)
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5 . (i) Utility [unction u=f(x.y) is a
- . \ . ; d<x o-:
(b) If Z=log(x+y). then prove that 3 :61'2 ) function
- (a) discrete b) continuous
OR ¢y relative (1) independent
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(iii) Which method is used to maximiza utility

function ?

(a) Least square method

(b} Binomial expansion methaod
(¢} Lagrange's multiplier method
(d} Regression method.
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